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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

11 4

10 4

—@— PHC
—&— PHI




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1_0, Day=32.0 (2025-06-13)
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G3-1_0, Day=31 (2025-06-12)
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G3-1

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK EE

07:00 283 100.0 2.16 = {Ri%@07:00 B3 (RAAERSE)
08:00 283 100.0 2.16 F  1BRi%e08:00 Bzl (RAERE)
09:35 283 100.0 2.16 = {RRi8009:35 Bzt (RAEESE)
11:35 283 100.0 2.16 = {Rige11:35 B (RAERSE)
13:25 283 100.0 2.16 E BRige13:25 Bz (GRAERESE)
14:55 283 100. 0 2.16 E|  {Rige14:55 B3h (RE{EREE)
16:45 283 100.0 2.16 = {Rig016:45 B3 (RAERSE)
23t|1981.0 (7% 700.0 EGHIKEC: 2250, PH: 6.5

RGBT R AR B Y (283 vs 192.0))

BRIANLPRIERE147.0 ml.
MEXMEREHB9IRE, i R i#HRPHA 546.5,10.3,6.0, REK KX
REXRERIPH (10.34) 5i&EPH (6.5) REKK, HRE
BEXREBIPH (10.34) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

FHEIKECE (2677.0 vs 4278.0) 1R
FRAVE Y S K FHREC 2250. 0
LORGEBIPH (10.4) 5i1&EE (6.5) WERK, BRE.
LEORGERIPH (10.4) S5iRBE (6.5) REK K, HEE.
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G3-1

BFE) | GEBATK () | s (EAR/#) | EREE (B/R) | X5 R

08:35 226 100.0 2.16 |Z=| {Ri%e08:35 Bz (KREAEZBE)
11:25 226 100.0 2.16 [2=| Rige11:25 Bz (RAFERE)
2it| 452.0 (2%) 200. 0 33HKEC: 2430, PH: 6.5

EORGER BT R IR AR BN (226 vs 189.0))

BRI\ L BRIERE120. 0 ml.

large discrepency for begining water status (90:219.0), set to 90 ml.
REXRFEABHLATIRE, it RiH&PHS 31 46.5,10.4,6.5, REK KX
REXJEBIPH (10.36) 5i&%EPH (6.5) RERK, FHRE
REXJEBIPH (10.36) 5FMPH (6.5) RERK, FHRE

REV WS RIFERPH 6.5

[o]{REC 4658.0 K5, EiUF{RKECAE & RER
#[EKECE (2753.0 vs 4658.0) 15
FREVE WS K iKEC 2430.0
EYGERPH (10.4) 5i18EE (6.5) REKK, FHE.
LORGEBIPH (10.4) S5#RBVEN (6.5) RERK, BRE.
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100 Fomm———F——————F——————F——————F-—————F——————F-—————F-—————F——————f——————F-—————f——————] i
1690 VEBABRY. ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2000

75

50 A

119

64

. v
FRV

Warning: lcol ['FVI’,

"FVO' ] missing

30 27T 500

0.6

0.4+

0.2~

Warning: lcol ['WC1’,

"WC2' ] missing

0.0

2600

2400

optEC0=2314. 0,

setECB=2430

—>— ECBx10% [
® ECC

=

10

optPHO0=6.5,

setPHB=6.5

—>—  PHBx10% f#
® PHC

400 -

ET (ml/hr/plant)

0 1

2

3

5

- 3000

- 2000

- 1000

17

18

19

20

21 22 23

400 -

EXNEZS

%=

i

i

[

i

E3
B

E3
B

ES
5]

=
B

300 -

200 -

100 A

ET (ml/hr/plant)

ByEt @D28 19:07: ET=1260 Fg=1320.0 Ro=nan

0 1

2

3

4

5

6

7

8

9

10

12

13

14

- 3000

- 2000

- 1000

L o__® _____

15

16

17

18

19

21 22 23

400 -

EXNEZS

%=

A

A

A

FA

%=

%=

ER

%5|%

%=

IINFR

FA

%=

%=

EXNESS

%=

*n| BE | B

300 -

200 -

ET (ml/hr/plant)

100 A

ByWoFv @D32 12:06: ET=327 Fg=200.0 Ro=6.0

- 3000

- 2000

- 1000

0.8

IINFR

ER

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

e v P

FRV (ml plant-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=395, FV0=0 m=435, FV0=0 m=585, FV0=0

—— ME 36 - —— ME —&— ME
32 i
34
30 - 34 N
32
28 39
30
26 30 -
28
24 28
26
22
26 -
T T T T T T T T T 24 ] T T T
600 800 1000 395 400 405 455 460 465 585 590 595
m=665,m FV0=0 m=715,m FV0=0 m=780,m FV0=0 m=830,m FV0=0
38
- UF 36 - - ME —o— IE 38 - —— ME
36 -
34 1 36
34 -
321 34 -
32 -
30
32
30 -
28
30
T T T T T 28 L T T T T T T
670 675 715 720 725 780 785 790 830 835 840
m=870,m FV0=0 m=915,m FV0=0 m=965,m FV0=0 m=1030m FVO=0
40 40 -
—— ME —o— ME —o— ME —o— ME
38 28 .
36
36 - 36 4
34
34 - 34
875 880 915 920 925 965 970 975 1030 1035 1040
m m=395,m FV0=0 m=455,m FV0=0 m=585,m FV0=0
24.75 4 —@— MW 27.04 —@— MW - MW
24. 50 -
50 26, 5 - 27.0
24. 25
26. 0 26. 5
24.00
25.5 -
23. 75 26. 0 -
23. 50 - 25.0 1
600 800 1000 395 400 405 455 460 465 585 590 595



27.

27.

26.

26.

30.

30.

29.

29.

28.

m=665, FV0=0 m=715, FV0=0
—— MW —— MW
5 - 28.5 -
28.0
0_
27.5 1
5_
27.0
0_
T T T 265 T T T
665 670 675 715 720 725
m=870,m FV0=0 m=915,m FV0=0
—o— MW 31.5 - —o— MW
5_
31.0
0_
30. 5
5_
30. 0
0_
29.5 +
5 T T T T T
870 875 880 915 920 925

29.

28.

28.

27.

27.

32.

31.

31.

30.

30.

m=780, FV0=0

—0— MW

T
780

7é5 7é0
m=965,n FV0=0

—— MW

T
965

T
970 975

30.

29.

29.

28.

28.

32.

32.

31.

31.

30.

m=830, FV0=0

—0—

MW

T
830

835
m=1030m FV0=0

T
840

—o— MW

T
1030

T
1035

T
1040




